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Division (International) with a Helper Grid

Name:

Solve each problem.

1) 245 : 7 = 2) 175 : 5 =
3 921 : 2 = 4 368 : 8 =
5 953 : 2 = 6) 100 : 7 =

Answers
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ﬂh Division (International) with aHelper Grid Name:. Answer Key

Solve each problem. Answers
1) 245 : 7 =035 2 175 : 5 =035 35
_O _0 1
2 4 7
-2 (15 2. 35
35 25
3 460r1
-13/5 -12'5
0 0 . 46
5 476r1l
6. 14r2
3 921 : 2 =460r1 4d 368 : 8 =046
-8 -0
12 36
12 -13|2
01 4'8
-0 - 48
1 0
59 953 : 2 =476r1 6) 100 : 7 =014r2
-8 -0
15 10
.14 -7
13 30
-112 -2/8
1 2

16 [83]67[50[33][17] 0]
[ Math ] www.CommonCoreSheets.com 9




JL_

Division (International) with a Helper Grid

Name:

Solve each problem.

1) 245 : 7 = 2) 175 : 5 =
3 921 : 2 = 4 368 : 8 =
5 953 : 2 = 6) 100 : 7 =

Answers

M odified
[ M ath ] www.CommonCoreSheets.com 9

1-6 [83[67]50(33[17] 0 |




	Worksheet
	Answer Key
	Modified Worksheet

